/DVIRB
3RPLHV]F]HQLH S5RINiDG

7\J

o
®
7N 7N 7N
.216 .216 .216
/87$ /87$ /87%
- &-( &-( &-(
T $7( $7( _$7(
2 5% 5% 5%
< 0%/% 0%/% 0%/3%
N 567 : 567: 567 :
$ P $ P $ P
- DUz - DUz -RVHID
v v 7DGHX
XVINQ XVINQ V] -
D : D :
7N
8 .216/87%&-
x (-$7("5%
= 0$/$567 - $
PJU . RVHID
7DGHXV] =
7N 7N
.216/87$8&( .216/87%$8&( ™
-$7( 5% _$7("5%
0$/$567 = $ DGLXQNI 0$/$567 = $ DGLXQNI .216/87
YUgFTHN %DURV] = DNXERZVN. -DNXE = $8-(
_$7("5%
7N 0$/$567
.216/87%&( :z$ SIRI
-$7("5% ! ZHFIFK
> 0$/$567:% SIRI ]1Z LHEr
T . ZHFIFK -DURViDZ = -DURVvd
3 -
[a)
N
T 7™
.216/87
$8-(
_$7("5%
0$/$567
=$ DGLXQN
]
DNXERZVN
L-DNXE =
=
M

6R




/DIRB
3RPLHV]F]HQLH 5RINiDG = 7\J




